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ARted : 1) 800 HHOD BB SERERN, w0 1,2,3 Hue 4 0it EYS HHRERD HSBVHOW
& D, SORHE HDEIR &7, 2RO TP ALED. HB HOTVD HHERISBVHL 1 BPE,
2) 28 S, DHREPHINDH 1/4 SRt Swo Hrtne Hod SdIabathm.
3) DYD HERERHENL B0 RENE).

16

16 . .
1) 125 VRN - S Sar0d0; E15................demmal.

1) @oéa’)ncﬁ:»& Terminating 2) @odosed) e585:01D; Non-terminating, recurring
3) wod0sed) e5858wsed); Non-terminating, Non-recurring 4) D8se¢; None of these
2) If 2x—(4-x)=5-Xx @wond (then) x=......c..........
1) 4.5 2) 3 3) 2.25 4) 0.5
3) a¥ &8 100 Sepbsechon §Q, 2,598 5°)Bscahid doen 6/~ IS
B ©EIE 20% orgfo SHB. ©&E% Ffsrdhed B0 dod?

A vendor purchased 100 coconuts and when sold them at the rate of
Rs. 6/- per coconut, he got a net profit of 20%. How much did he pay for
the purchase?

1) Rs. 480/- 2) Rs. 500~  3) Rs. 580/ 4)Rs. 600/-

4) |(Bobard&® SBdomg 26?; Which of the following is a square number?
1) 2901 2) 2801 3) 2701 4) 2601

5) 3:4 5Bk 2:3 © Y Q..o
The compound ratio of 3:4 and 2:3 is...............
T} 281 2) 1:2 3) 9:8 4) 8:9
6) Ddross S JoErds s2aieds S¥old Sode DORB s erevivasasonsa

Number of Independent measurements are needed to construct a
parallelogram is .....................

1) 1 2) 2 3) 3 4) 4 @
=4




~
B
7) If Z~P=11 ool (then) P=...............
37 =37 =51

1) 4 2) T 3 4) 2

8) EIR (HrS Sogg B EVF Sochug Sogge E.&°.10. woveininennn.
The L.C.M. of least prime and least composite number is...............
1) 2 2) 4 3) 6 4) 8

9) (BobaeRS® sy $dnEBEmO DO?
Which of the following is a simple equation?
1) 2x+1=y-3 2) 2t-1=5-2t 3) 2x-1=¢ 4) x*—x+1=0

10) X,y en @88 Smidrdos® o8l (Bobards® 26 $BKS.
If x, y are in direct proportion then which of the following is correct.
1) xy=k 2) %=k 3) xty=k  4) x-y=k

11) Ssheos SHdps Jerego 480 5.20.8. SEross Haros® ol gheo
DL 24 0.0, B o Hogy LeBo 8 0.8, wawiS BokS JHEPoSS
gheso 0¥ BPED) ..vevvivinnnnns 20. 8.
If area of a trapezium is 480 cm? Length of one of the parallel sides is
24 cm. and the distance between the parallel sides is 8 cm then the length
of the other parallel side is ................. cm.
1) 48 2) 96 3) 192 4)20

12) (BoB 06° 2 S0t > o Bxigie @86AAD Sogg.r .
The rational number between = and 2 i

1 3 17 1

V3 A% 3) 24 o'y

13) ($8 Surtd Joo 578 $§ BE) 883 SE5E (Hs°50 1 $oSE TS
Swdo BE) é&;ﬁg&aﬁs NS0 weszasswsmsaueny % Jddeso.
If interest is compounded for every 3 months. In calculating
compound interest for 1 year the value of N equals to................
)1 2) 2 3) 3 4) 4

L ©)

.'a




.',n

14)

15)

16)

s b7,

18)

19)

20)

21)

7

0.00001275=....c.ccouenuen..
1) 1.275%107° 2) 1.275x10™*  3) 12.75x10™* 4) 1.275x107°

e.88 PHoS® ‘X’ HBAn B oS ‘y’ EONS BoKOBL Bogy.........
Two digit number having ‘x’ in its units place and “y” in its tens place is....
1) x+y 2) 10x+y 3) x+10y 4) xy
(8o °QE° woddhy 88°0H0. ... e
Which of the following is a terminating decimal?
2 1 7 ‘
L5 % 3 25 Yy
a,b e AJT° Tod %A% Sdoggen wond atb=bta 3b............ ::56&0.

If a,b are any two rational numbers then a+b=b-+a. This is.......... property

1) ®ox&; Closure 2) ?gé@oétﬁ; Commutative
3) HJISY8; Associative 4) degreif; Distributive

Sto; RSN oTg /a Lo RnT: ev)i: IRFTRRRRRRS
The quadrilateral in which the diagonals are equal is..................

1) Jhrods Sédyeo; Parallelogram  2) orom; Rhombus
3) Sdoeon S&BY=o; Trapezium 4) (‘5551){5&)5{5\’)0; Rectangle

@'3 : [2-;)‘2 -G

-5 -
)= 2) = 3 5 4) &
Boaards® ‘FEBS TaGS SHEM &) GPB. v evevevne.

Which of the following is nearer to ‘golden ratio’?

1) 2.5:1 2) 1.615:1 3) 1.5:1 4) 1:2

&8 Sopy B SBos® 2.8l FH0S® SoXHORS ©08 S°B.... vvmeee-.

Which of the following number is doesn’t lie in the units place of a square
number?

1) 1 2) 4 3) 3 4)5 @
ﬂ
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22)

23)

24)

25)

26)

27)

28)

y)

2.8 $5820¥06° 9 TeH Jren 45. el Tv8 245 42 B
Eé&oﬂsﬁﬁs ST I I T o N

The mean of 9 observations is 45. If 24 is printed wrongly as 42 then the
COMTECt MEAN 1Sicucuivniiisiivies

1) 42 2) 44 3) 41 4) 43

BodardS® O wEsBabiong Heesed &0 B............

Which of the followingrational number has no multiplicative inverse.

1) 0 2) 1 3) -1 4) %

S0’ 1S DBore AB,C.D SolBorrie DTS a:véfi’i‘ﬂga’mm EOAS
Trenth Eeen erdrgore S)ydohEotnanon. SHEEo @) gheso
7 0.0, ©ows af BahadS [(rod JTOL0......... ... 5. 20. 8.

If in the given figure A,B,C,D are centres of equal circles
which touch externally is pairs and ABCD is a square of
side 7 cm. then the area of the shaded region is .......... sg.cm.

1) 9.625 2) 10.5 3) 38.5 4) 49

20 &. @& 9B & 1600/- wond ©d 24.5 . Gl ool N
The cost of 20 m of clothis Rs. 1600/- then the cost of 24.5 m of cloth is.............
1) Rs. 1970 2) Rs. 1960 3) Rs. 1860 4) Rs. 1260

n’ $8a» (nt+1)?e iy SEHBoggen SR LSO BOP . .vvwvvvven.
Number of non-perfectsquare numbers between n®and (n+1)?are...........

1) n 2) 2n 3) n? 4) (n+1)%

2.8 £ Tgro|Fos® o) Ao ... BEmS0.
All the bars in a bar graph have same............ s

1) &PEHen; Length 2) denen; Width 3) daegsnes; Area 4) denden; Value
036 % £ BrH0S® FEHP.rrnnnn...
q

Express 036 in 2 form...............
q

9 4
g i3 9

4) Bset%; None of these@
2,
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29)

30)

31)

32)

33)

34)

35)

36)

37)

38)

11,12,18,14,15,16 $8°0803%H eriotbo..............

For the data 11,12,13,14,15,16 modé is.......cccocuveriieics

1y 11 2) 13 3) 16 4) DB doh; does not exist
If 972 =1 wows (then) x=................

1) 0 2) 1 3) 2 4) 3

SE89206° Teoid ©oB8E O ToFED ............ OO Seren.

Sum of the four interior angles of a quadrilateral is............. right angles.
1) 360 2) 4 3) 2 4) 1

If g% —2V15 wows (then) x=..........

1) -g- 2) 155- 3) 2 4) %

BobadS® DD wons’n (Behasn oY) ghenen?

Which of the following are the sides of a right angled triangle?
1 &,8:11 2) 6,812 3) 56, 33, 65 4) 3,4,6

-2014 Ho& 2014 $85% DGy ?’.g;fvﬁoabéan SIBERD, v e o e maienn
The sum of the Integers between —2014 and 2014 is.................

1) -2014 2) -4028 3) 0 4) 4029

If 22x3°=576 @owd (then) atb=.............

1) 24 2) 16 3) 9 4) 8

If /9604 =98 ®owi (then) 1/0.009604 =.............

1) 0.0098 2) 0.980 3) 0.908  4)0.098
50,42,a,21, 19, 12 % SHi5ssn 25.5 5853 ‘a° Dend...........
For what value of ‘a’ will 25.5 be the median of 50, 42, a, 21, 19, 12
1) 30 2) 315 3) 305 4) 32
(1-2)+(2-3)+(3-4)+..........+(100-101)=................

1) 100 2) =100 3) 101 4) -101 @
)




n

39)

40)

41)

42)

43)

44)

45)

46)

-/

3x+3 g (©8)5006° If/m 0o X=....ccorrrrnne
38 In the adjacent figure ///m then x=.............
m
1) 75° 2) 225° 325" 4)15°

(x=a) (x=b) (X=C)errrrennn(X —2) 5

(D) (2) 3).........(26) '
1) 0 2) 1 3) 13 4) 26
461 ©30..cceeeeennnn.... S0mg 46118 @ c.overierians number

1) 947000 2) 749000 3) 794000 4) 974000

n ©3I8 HOPE HBBogy SR Sresdony O /n ORD...... Rogyg @i

If ‘n’ is a natural number other than a perfect square number then \/n
IS ueueeeseannas number.

1) w8sdad; Rational 2) $6da%; Irrational 3) Sieey; Natural 4) DBseth; None of these

INM=@g wons [, m Spen e.ErI8 a8B............

If /Nm=g then the lines / and m are..........cooov.......

1) eooerew; Perpendicular 2) ddroetoeew; Parallel

3) o&d Opew; Intersecting Lines  4) Hbseed; None of these
3,5 0 Sogge IS Ere ©oEKHEN GwE) S B ... ...

The reciprocal of the arithmetic mean of the reciprocals of the numbers
¥ 8045 Buwiimawmn

1 15 4
4 2, By A 5 2
1) By ) S 4 -

If x=2 8c% (and) y=-2 ®owd (then) x-y* Y=...............
1) 18 2) -18 3) 14 4) -14
@,
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47)

48)

49) |

T

50)

90 ethibe &Ko ISR KJ) (58 I8 8 wbHiben D8 Nod, Jo6I
Seperd 3 wtdrben Bos b, 0 ) Ao’ rdPE $K)H?

A frog in 90 feet deep well is venturing to come to the top ground. It hops
6 feet in a minute but slips down by 3 feet every minute. How long will it
take for the frog to reach the top ground?

1) 29 2) 28 3) 15 4) 30

(BEBe08° Y (Deheren o?

How many triangles are there in the adjacent figure?

1) 12 2) 14 3) 16 4) 17

BEBe08” W TS grito S0 D0?

Uyra
How much is the area of the shaded portion in
the adjacent figure?

1) 21m? 2) 34m? 3) 38m?>  4) 70m?
“RAMANUJAN MATHEMATICS CLUB” &3 $&5806° &rege Sogyg
B B Hoggesd .. 0%, 508050 K.r.em. 0 by I

The ratio of L.C.M. and H.C.F. of number of consonants and number of
vowels in the word ‘RAMANUJAN MATHEMATICS CLUB’ is...........

1) 15:1 2) 1:15 3) 5:3 4) 3:5
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